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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2014 C L«X, 2015 

%UÔX›◊Tˆ ( Economics ) 
ac˜ÁÃ^Eı YÁPˆy‘]-2 ( Subsidiary-2 ) 

Yá˚] Yy [ S-2 : International Trade & Development 
Economics (SEC-5) ] 

a]Ã^  f ª◊TˆX H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 3 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) Âc˜jªJÙÁÃ[˝-C_›X Tˆ„√º¯Ã[˝ Y◊Ã[˝EıÁPˆÁ„]ÁÃ^ V«◊ªRÙO V–„[˝ÓÃ[˝ VÁ„]Ã[˝ 
%X«YÁTˆ A[˝e V«◊ªRÙO =YEıÃ[˝„SÃ[˝ VÁ„]Ã[˝ %X«YÁ„TˆÃ[˝ ]„W˝Ó 
◊Eı W˝Ã[˝„XÃ[˝ a+EÔı ÿöˆÁYX EıÃ[˝Á ^ÁÃ^ TˆÁ %Á„_ÁªJÙXÁ 
EıÃ[˝”X* 

  %[˝ÁW˝ [˝Á◊SLÓ ◊Eı\ˆÁ„[˝ ◊[˝◊\ˆ~ ÂV„`Ã[˝ ]„W˝Ó 
=dYÁV„XÃ[˝ =YEıÃ[˝„SÃ[˝ VÁ„]Ã[˝ a]TˆÁ %ÁX„Tˆ YÁ„Ã[˝ 
ÂVFÁX* 10 + 10 

 (F) Â_X„V„XÃ[˝ \ˆÁÃ[˝aÁ„]ÓÃ[˝ \ˆÁÃ[˝aÁ]Óc˜›XTˆÁ V…Ã[˝ EıÃ[˝ÁÃ[˝ 

◊[˝◊\ˆ~ Yà˘◊Tˆm◊_ ◊[˝`„V %Á„_ÁªJÙXÁ EıÃ[˝”X* ]«V–ÁÃ[˝ 

%[˝]…_ÓÁÃ^„XÃ[˝ •ÁÃ[˝Á Â_X„VX \ˆÁÃ[˝aÁ„]ÓÃ[˝ HÁªRÙO◊Tˆ 

◊Eı\ˆÁ„[˝ V…Ã[˝ EıÃ[˝Á ^ÁÃ^ %Á„_ÁªJÙXÁ EıÃ[˝”X* Ac˜O Y“a„Ü 

%[˝]…_ÓÁÃ^„XÃ[˝ %a«◊[˝W˝Ám◊_ =‰{F EıÃ[˝”X* 10 + 10 

 (G) Ã%Á‹ôˆL¤Á◊TˆEı %UÔ\ˆÁâ¯ÁÃ[˝ ◊Eı ? ""◊[˝◊X]Ã^ c˜Á„Ã[˝Ã[˝ 

◊ÿöˆ◊Tˆ`›_TˆÁ [˝LÁÃ^ Ã[˝ÁFÁ A[˝e [˝ßW˝Á (multilateral) 

@S[˝Ó[˝ÿöˆÁ — Ac˜O V«c˜O ÿôˆ„ïˆÃ[˝ =YÃ[˝ VÒÁ◊QÕˆ„Ã^c˜O 

%Á‹ôˆL¤Á◊TˆEı %UÔ\ˆÁâ¯ÁÃ[˝ TˆÁÃ[˝ ]…_ =„ï`Óm◊_ ◊ÿöˆÃ[˝ 

Eı„Ã[˝*'' — =Y„Ã[˝ÁN˛ Ac˜O ◊[˝b„Ã^ a◊[˝ÿôˆÁ„Ã[˝ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* %Á‹ôˆL¤Á◊TˆEı %UÔ\ˆÁâ¯ÁÃ[˝ ◊Eı\ˆÁ„[˝ TˆÁÃ[˝ aVaÓ 

Ã[˝Á‰r—ÙÃ[˝ Â_X„V„XÃ[˝ [˝ÓÁ_Á„≥a HÁªRÙO◊Tˆ Â]ªRÙOÁ„Tˆ aÁc˜Á^Ó 

Eı„Ã[˝ ?  5 + 10 + 5 

 (H) AEı◊ªRÙO ^«N˛Ã[˝Ár—Ù›Ã^ [˝Ó[˝ÿöˆÁÃ^ ÂEı≥V– A[˝e %Áá˚◊_Eı 

aÃ[˝EıÁ„Ã[˝Ã[˝ ]„W˝Ó EıÃ[˝ A[˝e Ã[˝ÁLÿëˆ [˝∞RÙOX, aÃ[˝EıÁ◊Ã[˝ 

%X«VÁX A[˝e EıÃ[˝ %◊W˝y‘]„SÃ[˝ (multiple taxation) 

a]aÓÁm◊_ =VÁc˜Ã[˝Sac˜ %Á„_ÁªJÙXÁ EıÃ[˝”X* %X«\…ˆ◊]Eı 

Ã[˝ÁLÿëˆ %a]TˆÁ C ={∂ëˆ Ã[˝ÁLÿëˆ %a]TˆÁ ◊Eı A[˝e 

EıFX Y“„^ÁLÓ c˜Ã^ TˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 10 + 10 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) ªa«◊[˝W˝Á [˝ÓÃ^ [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? a«◊[˝W˝Á [˝Ó„Ã^Ã[˝ W˝ÁÃ[˝SÁÃ[˝ 

aÁc˜Á„^Ó ◊Ã[˝EıÁ„QÔˆÁÃ[˝ Tˆ√º¯„Eı ◊Eı\ˆÁ„[˝ Y«XfÿöˆÁ◊YTˆ EıÃ[˝Á 

^ÁÃ^ ÂVFÁX* 4 + 8 
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(F) %Á]VÁ◊X £íı EıÁ„Eı [˝„_ ? %Á]VÁ◊X-Ã[˝äÁ◊X £íı 

A[˝e ÂEıÁªRÙOÁÃ[˝ T«ˆ_ÓTˆÁ (equivalence) ◊[˝ªJÙÁÃ[˝ EıÃ[˝”X*  

  4 + 8 

(G) %Á‹ôˆL¤Á◊TˆEı [˝Á◊S„LÓ %e`G–c˜SEıÁÃ[˝› ÂV`m◊_ ◊Eı\ˆÁ„[˝ 

_Á\ˆ[˝ÁX c˜Ã^ TˆÁ Â[˝ÁMıÁX* Ac˜O _Á„\ˆÃ[˝ [˝∞RÙOX AEı◊ªRÙO 

l«˘V– C [˝ c˜d ÂV„`Ã[˝ ]„W˝Ó ◊Eı\ˆÁ„[˝ [˝◊∞RÙOTˆ c˜Ã^ TˆÁ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 4 + 8 

(H) [˝Á◊SLÓ =• w¯ C Â_X„VX =• w¯ [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? 

ÿëˆÃ^e◊y‘Ã^ Â_X„VX A[˝e a]XüÃ^EıÁÃ[˝› Â_X„V„XÃ[˝ ]„W˝Ó 

YÁUÔEıÓ ◊XSÔÃ^ EıÃ[˝”X A[˝e Ac˜O YÁUÔ„EıÓÃ[˝ TˆÁdY^Ô 

◊[˝‰`¿bS EıÃ[˝”X*  

(I¯) AEı◊ªRÙO %ÁV`Ô EıÃ[˝X›◊TˆÃ[˝ È[˝◊`rÙÓm◊_ Eı› ? EıÃ[˝Á„Ã[˝Á„YÃ[˝ 

Âl˘‰y [˝Áÿôˆ„[˝ Eı› Eı› %a«◊[˝W˝Á ÂVFÁ ÂVÃ^ TˆÁ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 4 + 8 

(ªJÙ) ◊[˝`ü[˝ÓÁ·¯ GPˆX EıÃ[˝ÁÃ[˝ ]…_ =„ï`Óm◊_ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* ◊[˝`ü[˝ÓÁ·¯ A[˝e %Á‹ôˆL¤Á◊TˆEı %UÔ\ˆÁâ¯ÁÃ[˝-AÃ[˝ 

]„W˝Ó EıÁ^ÔÁ[˝_›Ã[˝ YÁUÔEıÓm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 6 + 6 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) =dYÁVX aïˆÁ[˝XÁ ÂÃ[˝FÁ EıÁ„Eı [˝„_ ? y‘][˝W˝Ô]ÁX 

[˝Ó„Ã^Ã[˝ Âl˘‰y =dYÁVX aïˆÁ[˝XÁ ÂÃ[˝FÁ ÂEı]X c˜„[˝ 

A[˝e ÂEıX c˜„[˝ ? 3 + 3 

(F) È[˝„V◊`Eı ]«V–ÁÃ[˝ [˝ÁLÁÃ[˝ [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? 

TˆÁdl˘◊SEı [˝ÁLÁÃ[˝ A[˝e %◊G–] [˝ÁLÁ„Ã[˝Ã[˝ ]„W˝Ó a+EÔı 

ÿöˆÁYX EıÃ[˝”X* 2 + 4 

(G) =VÁc˜Ã[˝Sac˜ [˝Á◊c˜ÓEıTˆÁÃ[˝ [˝ÓÁFÓÁ ◊VX* [˝Á◊c˜ÓEıTˆÁ 

UÁEı„_ VÁ] ◊XSÔÃ^ EıÃ[˝Á Eı◊PˆX c˜„Ã^ C‰Pˆ ÂEıX 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 2 + 4 

(H) Y“TˆÓl˘ EıÃ[˝ [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? Y“TˆÓl˘ EıÃ[˝Á„Ã[˝Á„YÃ[˝ 

◊\ˆ◊w¯ ◊Eı ◊Eı ◊[˝b„Ã^Ã[˝ CYÃ[˝ ◊X\ˆ¤Ã[˝ Eı„Ã[˝ TˆÁ [˝ÓÁFÓÁ 

EıÃ[˝”X* 2 + 4 

(I¯) Ã[˝ÁLÿëˆ X›◊Tˆ [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? Ã[˝ÁLÿëˆ X›◊TˆÃ[˝ 

_l˘Óm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 2 + 4 

(ªJÙ) ^«N˛Ã[˝Ár—Ù›Ã^ Ã[˝ÁLÿëˆ [˝Ó[˝ÿöˆÁÃ[˝ a]aÓÁm◊_ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* ^«N˛Ã[˝Ár—Ù›Ã^ Ã[˝ÁLÿëˆ [˝Ó[˝ÿöˆÁÃ^ [˝ß◊[˝W˝ Eı„Ã[˝Ã[˝ 

a]aÓÁ a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* %ÁY◊X ◊Eı ]„X 

Eı„Ã[˝X \ˆÁÃ[˝Tˆ[˝bÔ Ac˜O a]aÓÁÃ[˝ •ÁÃ[˝Á Y“\ˆÁ◊[˝Tˆ c˜Ã^ ?  

(ªK˜) EıÃ[˝ Y“VÁ„XÃ[˝ a]ÁX aÁ]UÔÓ [˝_„Tˆ %ÁY◊X ◊Eı   

Â[˝Á„MıX ? ◊Eı ◊Eı ◊[˝bÃ^ Ac˜O aÁ]„UÔÓÃ[˝ ◊\ˆ◊w¯ [˝„_ GSÓ 

c˜„Tˆ  YÁ„Ã[˝ ? %Á„_ÁªJÙXÁ EıÃ[˝”X* 2 + 4 

(L) aÃ[˝EıÁÃ[˝› @„SÃ[˝ È[˝◊`rÙÓm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

aÃ[˝EıÁÃ[˝› @S %UÔX›◊TˆÃ[˝ CYÃ[˝ ◊Eı Ã[˝Eı] Y“\ˆÁ[˝ ÂZı„_ 

TˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 3 + 3 
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1. Answer any two questions : 20 × 2 = 40 

(a) Discuss the type of relationship that can be 

established between the goods price ratio 

and factor price ratio according to the 

Heckscher-Ohlin theory.  

 Show how free trade can bring about factor 

price equalisation between different 

countries. 10 + 10 

(b) Discuss in detail the various methods that 

can be adopted to eliminate disequilibrium 

in Balance of Payment. Explain how 

devaluation of currency can help to remove 

the deficit in Balance of Payments. In this 

regards point out the disadvantages of 

devaluation. 10 + 10 

(c) What is IMF ? "How stability of exchange 

rates and multilateral credit system, the 

two main pillars, are used for setting up of 

main objectives of IMF." Discuss in detail. 

How does IMF help to correct the deficit in 

Balance of Payments of its member 

countries ? 5 +10 + 5  

(d) In a federal fiscal system, discuss with 

examples the problems between Central 

Government and regional government 

regarding tax, fiscal revenue distribution, 

government grant and multiple taxation. 

What do you understand by horizontal 

fiscal imbalance and vertical fiscal 

imbalance ? Discuss when they are 

applicable. 10 + 10 

2. Answer any three questions  : 12 × 3 = 36 

(a) What do you understand by cost  

advantage ? Show how Ricardian theory 

can be re-established with the help of the 

theory of cost advantage. 4 + 8 

(b) What is import tariff ? Justify the 

equivalence of import-export tariff and 

quota. 4 + 8 
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(c) Show how countries gain by participating 

in international trade. Discuss how the 

gains from trade are distributed between a 

small and a large country. 4 + 8 

(d) What do you mean by Balance of Trade and 

Balance of Payments ? Discuss the 

difference and significance of autonomous 

balance and accommodating balance.  

(e) Discuss the features of an ideal tax policy. 

Discuss the difficulties faced in reality 

while levying taxes. 4 + 8  

(f) Discuss the main objectives of setting up 

the World Bank. Discuss the functional 

differences between the World Bank and 

the International Monetary Fund. 6 + 6 

3. Answer any four questions  : 6 × 4 = 24 

(a) What is production possibility curve ? What 

will be the shape of the production 

possibility curve in case of increasing costs 

and why ? 3 + 3  

(b) What do you mean by foreign exchange 

market ? Establish a relationship between 

spot market and forward market. 2 + 4  

(c) Explain externality with examples. Explain 

why determination of price becomes 

difficult in the presence of externalities. 

  2 + 4 

(d) What do you mean by direct tax ? Explain 

the factors on which levying of direct tax 

depends. 2 + 4  

(e) What is fiscal policy ? Discuss the aims of 

fiscal policy. 2 + 4 

(f) Discuss the problems of a federal fiscal 

system. Discuss the problem of multiple 

taxation in a federal fiscal system. Do you 

feel India is affected by such problem ?  

(g) What do you mean by equal capability of 

payment of taxes ? Discuss the factors that 

are considered for determination of such 

capability. 2 + 4  

(h) Discuss the features of public debt. Discuss 
the effect of public debt on an economy. 

  3 + 3 

    


